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RRB NTPC Exam. – Practice Set
Answer with Explanation

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1. (a) ¦þyîû“þ#ëû ¢‚!î•yöì̃ îû 31 ˜‚ •yîûyëû ¢Á™!_îû x!•„þyîû ö›ï!œ„þ
x!•„þyîû !£öì¢öìî !ŠéœÐ 44“þ› ¢‚!î•y˜ ¢‚öìŸy•öì̃  (1978)
~!Ýþ ö›ï!œ„þ x!•„þyöìîûîû ßþº#„,þ!“þ £yîûyëûÐ î“Åþ›yöì̃  ~!Ýþ
300(A) ˜‚ •yîûyëû xy£z̃ †“þ x!•„þyîû !£öì¢öìî xhsþ¦%Åþ_«
„þîûy £öìëûöìŠéÐ

2. (b) 1964 ¢yöìœ ~„þ !îöìŸ¡ì xy£z̃  îöìœ ¦þyîûöì“þîû !îû‹y¦Åþ
îÄyöìBþîû x•#˜ßþi ¢‚ßþiy !£öì¢öìî xyd²Ì„þyŸ „þöìîûÐ

3. (d) 1925 !…ÊÞÝþyöì· 9 xy†ÞÝþ îûy›²Ì¢y” !î¢!›œ ç îûyöì‹w˜yí
œy!£vþü#îû ö˜“,þöìc œöìÇøþï öîûœ öÞÝþŸ˜ öíöì„þ 14 ›y£zœ ”)öìîû
„þyöì„þy!îû öÞÝþŸöì̃  ”%ƒ¢y£!¢„þ öîûœ vþy„þy!“þ ¢‚‡!Ýþ“þ £ëûÐ
!î²Õî#îûy ²Ì‰%þîû Ýþy„þy œ%àþ „þöìîûÐ ~£z ‡Ýþ̃ yëû 44 ‹˜öì„þ x!¦þë%_«
„þöìîû „þyöì„þy!îû ¡ìvþüësþf ›y›œy ”yöìëûîû £ëû 25 xy†ÞÝþ 1925
!…ÊÞÝþyö ì·Ð ›y›œyëû ë%_« !Šéö ìœ˜ îûy›²Ì¢y” !î¢!›œ
xyŸšþy„þvþzÍÔy£ …¤y– öîûyŸ˜ !¢‚ ²Ì¦,þ!“þ îÄ!_«îûyÐ

4. (d) ¢Á±!“þ ÝþyÝþy ~xy£z~ œy£zšþ £z!ªöìëûyöìîûª ö„þyÁ™y!˜ !œ!›öìÝþvþ
˜y›„þ !î›y ö„þyÁ™y!˜ ò¢Á™)’Åy îûÇþy ²Ì!›¢ó ˜y›„þ !î›y
þ™!œ!¢ ‰þyœ% „þöìîûöìŠéÐ

5. (c) x!¦þöìœ… xy”yœ“þ !£öì¢öìî £y£zöì„þyÝÅþ ç ¢%!²Ì› ö„þyÝÅþ „þy‹
„þöìîû íyöì„þÐ ~£z ö„þyöìÝÅþ ¢‚îû!Çþ“þ öëöì„þyöì̃ y ˜!íþ™e ¦þyîûöì“þîû
¢›hßþ xy”yœöì“þ ²Ìy›y’Ä ˜!í !£öì¢öìî @ùÌ£’öìëy†Ä £öìîÐ

6. (b) 1398 !…ÊÞÝþyöì· ÷“þ›%îûœˆ ¦þyîû“þ xye«›’ „þöìîû!Šéöìœ˜Ð
7. (a) vþz!qöì”îû ˜y£zöìÝþÆyöì‹˜!î£#˜ î‹ÅÄ þ™”yíÅ £œ îû‹˜Ð ~!Ýþ

è¡ì•– îy!˜ÅŸ ç ²Õy!ÞÝþ„þ ÷“þ!îûöì“þ îÄî£*“þ „þ!“þþ™ëû vþz!q”
!˜ƒ¢,“þ þ™”yíÅÐ

8. (d) ¢Á±!“þ ~£zvþz ßþ¿œ !šþ˜Äyª îÄyBþ– xy!”“þÄ !îvþüœy !šþ˜Äyª
!œ!›öìÝþöìvþîû öëïí ¢£öìëy!†“þyëû !¦þ¢y ~î‚ îû&öìþ™ ²ÕÄyÝþšþ›Å
!˜¦Åþîû ö„þyéôéîÊÄyöìuþvþ öe«!vþÝþ „þyvÅþ ‰þyœ% „þöìîûöìŠéÐ

9. (c) ˜y!¢„þ Ÿ£îû!Ýþ ö†y”yîîû# ˜”#îû “þ#öìîû xî!ßþi“þÐ ~Ýþy ›£yîûyöìÜTÉîû
˜y!¢„þ ö‹œyîû !eÁº„þ vþzF‰þ¦)þ!› öíöì„þ vþzêþ™§¬ £öìëûöìŠéÐ ~!Ýþ
”!Çþ’ ¦þyîûöì“þîû ”#‡Å“þ› ˜”#Ð ÷”‡ÅÄ öî!Ÿ £çëûyëû ~öì„þ ò”!Çþ’
¦þyîûöì“þîû †Dyó îœy £ëûÐ

10. (c) xyhsþ‹Åy!“þ„þ ›%oy “þ£!îœ ²Ì!“þ!Ûþ“þ £ëû 1945 ¢yöìœÐ
11. (b) ö£y›îû&œ xyöì̈ yœöì̃ îû ›y•Äöì› ‹ç£îûœyœ ö˜£îû& îûy‹˜#!“þöì“þ

²ÌöìîŸ „þöìîû̃ Ð òö£y›îû&œó „þíy!Ýþîû xíÅ ßþºyëû_Ÿy¢˜Ð
12. (a) ¢Á±!“þ ²Ì„þy!Ÿ“þ ‘The Scientist Enterpreneur :

Empowering Millions of Women’ ˜y›„þ @ùÌsþi!Ýþîû
îû‰þ!ëû“þy £öìœ˜ „þÒ˜y ŸBþîûÐ

13. (d) îûöì_« Ÿ„Åþîûyîû þ™!îû›y’ î,!kþ„þyîû# £îûöì›y˜!Ýþîû ˜y› @Õ%„þy†˜Ð
14. (c) œyœy œy‹þ™“þ îûyëûöì„þ òþ™yOyî ö„þŸîû#ó îöìœ x!¦þ!£“þ „þîûy

£“þÐ !“þ!˜ þ™yOyî ˜ÄyŸ˜yœ îÄyBþ ç œ"# !î›y ö„þyÁ™y!˜
ßþiyþ™˜ „þöìîû!Šéöìœ˜Ð

15. (b) 15 ‹%œy£z World Youth Skills Day þ™y!œ“þ £ëûÐ
16. (a) ¢Á±!“þ ¦þyîû“þ öë Re-Useable Hybrid Rocket éôé~îû

¢šþœ vþzêöìÇþþ™’ „þöìîûöìŠé “þyîû ˜y› £œéôéRHUMI-1.
17. (b) îD#ëû ²Ì‹yßþº_ ́ xy£z̃  1885 ¢yöìœ þ™yŸ £öìëû!ŠéœÐ ¦)þ!›

!˜ëûsþf’ ²Ì‹y ç ‹!›”yîûöì”îû þ™yîûßþ™!îû„þ ”yëû ç x!•„þyîû
¢‚e«yhsþ xy£z˜Ð xy£z̃ !Ýþ ²Ì’#“þ £öìëû!Šéœ ~„þ!Ýþ !îöìŸ¡ì
ö²ÌÇþyþ™öìÝþÐ

18. (d) ˜y˜y šþvþü̃ !îŸöì„þ ¦þyîûöì“þîû ›Äy!„þëûyöì¦þ!œ îœy £ëûÐ
19. (b) öîûŸ!›îû&›yœ ¡ìvþüësþf ›y›œy ›%¢œ›y˜öì”îû ›öì•Ä !îÊ!ÝþŸ

!îöìîûy!•“þy †öìvþü “%þöìœ!ŠéœÐ
20. (d) ¢Á±!“þ Central Electronics Ltd. ö¢rÝþÆyœ þ™yî!œ„þ

ö¢Qîû ~rÝþyîû²Ìy£z‹ ˜îîûb ¢‚ßþiyîû “þ„þ›y öþ™öìëûöìŠéÐ ~îû
¢”îû „þyëÅyœëû ˜“%þ˜ !”!ÍÔöì“þ xî!ßþi“þÐ

21. (b) œy£z› çëûyÝþyöìîû îûöìëûöìŠéé „þÄyœ!¢ëûy› £y£zvÈþ:y£zvþÐ
22. (c) =ëûy!˜˜ ~„þ •îûöì̃ îû ˜y£zöìÝþÆyöì‹˜ Çþyîû„þÐ
23. (b) ›y˜%öì¡ìîû 46!Ýþ öe«yöì›yöì‹yöì›îû ›öì•Ä 44!Ýþ xöìÝþyöì‹y› ~î‚

2!Ýþ xÄyöìœyöì‹y› îy ö¢: öe«yöì›yöì‹y› íyöì„þÐ
24. (b) ¢Á±!“þ ”!Çþ’ xy!šÊþ„þyîû ö˜ïîy!£˜# ¢yîöì›!îû̃  vþzkþyöìîûîû

!î¡ìöìëû !mþ™y!Çþ„þ ¢Á™„Åþ î,!kþ „þîûöì“þ ¦þyîû“þ#ëû ö˜ïîy!£˜#îû
¢öìD ›vþz ßþºyÇþîû „þöìîûöìŠéÐ

25. (a) 1930 !…ÊÞÝþyöì·îû 12 ˜öì¦þÁºîû ¢îû„þyîû !î!¦þ§¬ ”öìœîû ¦þyîû“þ#ëû
ö˜“,þî,̈ öì”îû !˜öìëû œuþöì̃  ²Ìí› ö†yœöìÝþ!îœ ÷îàþ„þ x˜%!Ûþ“þ
„þöìîûÐ

26. (c) x!¦þ„þöì¡ìÅîû !îÙ»‹˜#˜ ¢)e xy!îÜñyîû „þöìîû̃  !˜vþzÝþ˜Ð
27. (d) ‹îû&!îû xîßþiyîû ö‡y¡ì’y ëíyëí¦þyöìî x˜%öì›y!”“þ £öìœ

~öì„þîyöìîû Šéó›y¢ ‰þyœ% íyöì„þÐ ~£z¦þyöìî Šéó›y¢ „þöìîû ö‡y¡ì’y!Ýþîû
ö›ëûy” îyvþüyöì̃ y ëyëûÐ ~£z ‹îû&!îû xîßþiy ¢îÅy!•„þ „þ“þ!”˜
þ™ëÅhsþ îœîê îûy…y ëyöìî ö¢ !î¡ìöìëû ¢‚!î•yöì̃  þ™!îûÜñyîû !„þŠ%é
îœy ö˜£zÐ

28. (d) ¢Á±!“þ 2024 ¢yöìœîû £zvþz~¢ çöìþ™˜ öÝþ!˜¢ ²Ì!“þöìëy!†“þyëû
þ™%îû&¡ìöì”îû !¢Dœöì¢ ‰þÄy!Á™ëû̃  £öìëûöìŠé˜ ‹y!§¬„þ !¢§¬yîûÐ ~£z
ö…œyëû ›!£œyöì”îû !î¦þyöì† ‰þÄy!Á™ëû̃  £öìëûöìŠé˜ xy!îûëûy˜y
¢yîyöìœBþyÐ

29. (a) !‰þþ™öì¢îû þ™Äyöì„þöìÝþ N2 îy ˜y£zöìÝþÆyöì‹˜ †Äy¢ íyöì„þÐ îyëû%›[þöìœ
˜y£zöìÝþÆyöì‹˜ †Äyöì¢îû þ™!îû›y’ £œ 78%Ð ˜y£zöìÝþÆyöì‹˜ †Äyöì¢îû
þ™yîû›y’!î„þ ¢‚…Äy £œ 7Ð

30. (a) ö¢y!vþëûy› ö„Ïþyîûy£zvþ öÝþ!îœ ¢ÎÝþ ˜yöì› þ™!îû!‰þ“þÐ ~îû îûy¢yëû!˜„þ
¢‚öì„þ“þ £œ NaclÐ

31. (a) ¢Äy„þy!îûöì̃ îû îûy¢yëû!˜„þ ˜y› xyöìíÅyéôé¢yœöìšþyöìî˜!‹›y£zvþÐ
~îû îûy¢yëû!˜„þ ¢‚öì„þ“þ £œ C7H5NO3SÐ



xÄy!‰þ¦þy¢Åî¡ìÅ éôé 12– £z¢%Ä éôé 9  ‹y %̃ëûy!îû– 20252

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

32. (d) ö„þw#ëû „,þ!¡ì ç „,þ¡ì„þ „þœÄy’ ›sþf„þ ò~!@ùÌšþyuþ šþîû ÞÝþyÝÅþéôéxyþ™¢
xÄyuþ îû&îûÄyœ ~rÝþyîû²Ìy£zö ì‹¢óéôé~ 750 ö„þy!Ýþþ Ýþy„þy
îÄëûéôéîîûyj „þöìîûöìŠéÐ

33. (a) „þÄy˜¢yîû öíîûy!þ™îû ‹˜Ä I80 xy£zöì¢yöìÝþyþ™ îÄî£yîû „þîûy £ëûÐ
34. (a) xþ™yöìîû!Ýþ‚ !¢öìÞÝþ› £œ ~„þ!Ýþ ¢y•yîû’ ¢šþÝþçëûÄyîû !¢öìÞÝþ›–

ëy „þ!Á™vþzÝþyöìîûîû ~î‚ ¢šþÝþçëûÄyöìîûîû övþÝþy=!œöì„þ !˜ëûsþf’
„þöìîûÐ

35. (b) ö„Ïþy!îû̃  ö›ïöìœîû îõþ˜ Ÿ!_« ¢îÅy!•„þÐ ö„Ïþy!îû̃  £œ !m“þ#ëû“þ›
£yœ„þy £Äyöìœyöì‹˜ ö›ïœÐ ~!Ýþ þ™y˜#ëû ‹öìœîû îÄy„þöìÝþ!îûëûy
~î‚ ¦þy£zîûy¢ ”)îû#„þîûöì’ îÄî£*“þ £ëûÐ ~îû þ™yîû›y’!î„þ
¢‚…Äy 17Ð

36. (a) ¢Á±!“þ ö˜þ™yœ £zrÝþyîû̃ ÄyŸ˜yœ ö¢yœyîû xÄyœyöìëûöìªîû
101“þ› ¢”¢Ä ö”Ÿ !£¢yöìî xhsþ¦%Åþ_« £öìëûöìŠÐ

37. (a) îûy¢yëû!˜„þ¦þyöìî xÄy¢!þ™!îû̃  £œé xÄy!¢Ýþy£zœ ¢Äy!œ¢y£z!œ„þ
xÄy!¢vþÐ ~!Ýþ ¢y•yîû’“þ xÄy¢!þ™!îû̃  ˜yöì› þ™!îû!‰þ“þÐ

38. (c) £z̃ ¢%!œ˜ £îûöì›y˜ xy£zöìœÝþ¢ xšþ œÄyDyîûöì£˜¢éôé~îû !îÝþy
ö„þyŸ öíöì„þ Çþ!îû“þ £ëûÐ ~!Ýþ îûöì_« Ÿ„Åþîûyîû þ™!îû›y’ !˜ëûsþf’
„þöìîûÐ

39. (d) ›y˜î ö”öì£îû ¢îöì‰þöìëû Ç%þo x˜yœ @ùÌ!sþi £œ !þ™!˜ëûyœ î!vþÐ
~!Ýþ ›!hßþöìÜñîû ö„þw ßþiöìœ xî!ßþi“þÐ ~îû ÷”‡ÅÄ 7.4 !›!œ!›Ýþyîû
~î‚ ²Ìßþi 6.9 !›!œ!›ÝþyîûÐ

40. (a) ¢Á±!“þ ˜yîyvÅþ „þ˜¢yœöìÝþ!ª ¢y!¦Åþöì¢¢éôé~îû ›Äyöì˜!‹‚
!vþöìîûQîû !£öì¢öìî !˜ë%_« £öìœ˜ çëûy£z £îûöì†yþ™yœÐ !“þ!˜
þ™)öìîÅ ˜yîyöìvÅþîû ö“þöìœDy˜y xyMþé!œ„þ x!šþöì¢îû ö‹˜yöìîûœ
›Äyöì̃ ‹yîû !£öì¢öìî ”#‡Å!”˜ ”y!ëûc þ™yœ˜ „þöìîûöìŠé˜Ð

41. (b) •!îû– “,þ“þ#ëû ¢‚…Äy = 100
“þy£öìœ ²Ìí› ¢‚…Äy = 70 ~î‚ !m“þ#ëû ¢‚…Äy = 63
•!îû– !m“þ#ëû ¢‚…Äy = ²Ìí› ¢‚…Äyîû x%, “þy£öìœ

x 7x 1063 70 63 x 63 90
100 10 7

       

 !m“þ#ëû ¢‚…Äy = ²Ìí› ¢‚…Äyîû 90% xíÅyê 10% „þ›Ð

42. (a) •!îû– !˜öì’Åëû ¦þ@Ày‚Ÿ 
a
b

  ~î‚ 
a 1 2
b 1 3





 a + 1 = 2 ~î‚ b + 1 = 3
 a = 1 ~î‚ b = 2

x“þ~î !˜öì’Åëû ¦þ@Ày‚Ÿ 
1
2



43. (d) •!îû– 1 îŠéîû xyöì† ¢y!˜„þyîû îëû¢ !Šéœ = 3x îŠéîû ~î‚
ö†ï!îûîû îëû¢ = 4x îŠéîû
¢y!˜„þyîû î“Åþ›y˜ îëû¢ = (3x + 1) îŠéîû ~î‚ ö†ï!îûîû
î“Åþ›y˜ îëû¢ = (4x + 1) îŠéîû

1 îŠéîû þ™öìîû “þyöì”îû îëûöì¢îû x˜%þ™y“þ £öìî 
3x 2
4x 2





3x 2 10
4x 2 13


 



 13(3x + 2) = 10(4x + 2)
 39x + 26 = 40x + 20  x = 6
¢y!˜„þyîû î“Åþ›y˜ îëû¢ = (3 × 6 + 1) = 19 îŠéîû

44. (c)      2 2
8 2 15 5 3 2 5 3     

 2
5 3 

 8 2 15 5 3   

45. (c) 3x+y = 81 ~î‚ (81)x–y = 3
 3x+y = 34 ~î‚ (34)x–y = 3 = 31

 x + y = 4 ~î‚ 4x – 4y = 1
 4x + 4y = 16 ~î‚ 4x – 4y = 1

17x
8

 

46. (a) !îe«ëû›)œÄ = 69.60 Ýþy„þy– Çþ!“þ = 25%

e«ëû›)œÄ 
100 696069.60 92.80
75 75

     
 

Ýþy„þy

47. (b) •!îû– !˜öì’Åëû !”˜ ¢‚…Äy = x
„þ› öœy„þ– öî!Ÿ !”˜ SîÄhßþy˜%þ™y“þV
„þ› ‰þyœ– „þ› !”˜ S¢›y˜%þ™y“þV

30:60
::14: x

280:120




öœy„þ
‰þyœ

 (30 × 280 × x) = (60 × 120 × 14)

 
 

60 120 14
x x 12

30 280
 

   


 !”˜

48. (b) (A + B) ~îû 1 !”öì̃ îû „þy‹ 
1
8



B ~îû 1 !”öì̃ îû „þy‹ 
1

12


A ~îû 1 !”öì̃ îû „þy‹ 
 3 21 1 1

8 12 24 24
     

 

B ~îû 4 !”öì̃ îû „þy‹ 
1 14

12 3
    
 

îy!„þ „þy‹ 
1 21
3 3

    
 

1
24  ¦þy† „þy‹ A „þöìîû = 1 !”öì̃

2
3  ¦þy† „þy‹ A „þöìîû 

24 21
1 3

    
 

= 16 !”öì̃

¢%“þîûy‚ îy!„þ „þy‹ A ~„þy 16 !”öì̃  „þîûöìîÐ

49. (c) •!îû– •#îû †!“þîû ˜œ!Ýþ ö‰þïîyF‰þy!Ýþöì„þ x !›!˜öìÝþ ¦þ!“Åþ „þöìîûÐ

“þy£öìœ– o&“þ †!“þîû ˜œ!Ýþ 
x
3  !›!˜öìÝþ ¦þ!“Åþ „þîûöìî



3Achievers

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1 3 1 4 1 x 144
x x 36 x 36

      

¢%“þîûy‚ •#îû †!“þîû ˜œ!Ýþ 144 !›!˜öìÝþ ¦þ!“Åþ „þîûöìîÐ
50. (b) •!îû– ßþºy¦þy!î„þ †!“þ = x !„þ!›/‡^ùÝþyÐ “þy£öìœ

 
360 360 3

x x 10
 



 
1 1 3 1
x x 10 360 120

   


 
 

x 10 x 1
x x 10 120
 

 


 x2 + 10x – 1200 = 0
 x2 + 40x – 30x – 1200 = 0
 x(x + 40) – 30(x + 40) = 0
 (x + 40)(x – 30) = 0
 x = 30 [ x  –40]
†y!vþüîû ßþºy¦þy!î„þ †!“þ = 30 !„þ!›/‡^ùÝþy

51. (d) •!îû– öÝþÆ̃ !Ýþîû ÷”‡ÅÄ = x !›Ýþyîû
öÝþÆ̃  ç îÄ!_«îû xyöìþ™!Çþ„þ †!“þöìî† = (30 – 15) !„þ!›/‡^ùÝþy

515
18

   
 

!›Ýþyîû/ö¢öì„þuþ 
25
6

  !›Ýþyîû/ö¢öì„þuþ

 
x 48

25 / 6
 

 6x = 25 × 48  x = 200 !›Ýþyîû

52. (a) ößþËyöì“þîû !îþ™îû#öì“þ ö˜ï„þyîû †!“þ 
12 60
48

   
 

  = 15 !„þ!›/‡^ùÝþy
•!îû– !ßþiîû ‹öìœ ö˜ï„þyîû †!“þ = x !„þ!›/‡^ùÝþy
ößþËyöì“þîû †!“þ = 2 !„þ!›/‡^ùÝþy
 x – 2 = 15
 x = 17
¢%“þîûy‚ !ßþiîû ‹öìœ ö˜ï„þyîû †!“þ = 17 !„þ!›/‡^ùÝþy

53. (b) !›×öì’îû !˜ëû› myîûy ­

S²Ìí› !›×öì’ xÄyœöì„þy£œV
(30%)

S!m“þ#ëû !›×öì’ xÄyœöì„þy£œV
(50%)

S˜“%þ˜ !›×öì’ xÄyœöì„þy£œV
(35%)

15 5
!˜öì’Åëû x˜%þ™y“þ = 15 : 5 = 3 : 1

54. (d) •!îû– ‡˜öì„þîû ²Ì!“þ!Ýþ îyý = a ö¢!›
“þy£öìœ ~îû ¢›@ùÌ“þöìœîû öÇþešþœ = 6a2 î†Åöì¢!›2

 6a2 = 13254

 a2 = 2209 = (47)2  a = 47 ö¢!›

„þöì’Åîû ÷”‡ÅÄ 3a 47 3   ö¢!›
55. (a)

A

B

C

x
60°

100 !›Ýþyîû

•!îû– AB …¤%!Ýþ ~î‚ AC “þyîû Šéyëûy
“þy£öìœ– AC = 100 !›Ýþyîû ~î‚ ACB = 60°
•!îû– AB = x !›ÝþyîûÐ “þy£öìœ–
AB xtan 60 3 x 100 3
AC 100

     !›Ýþyîû

¢%“þîûy‚ …¤%!Ýþîû vþzF‰þ“þy 100 3 !›Ýþyîû

56. (b) 
 
 

 
 

a sin b cos a b cot
a sin b cos a b cot

    


    

 
 

2 2

2 2

ba b a ba
b a ba b
a

      
    
 

57. (b) !˜öì’Åëû x˜%þ™y“þ = (320 + 415 + 225) : (150 + 190
+ 250) = 960 : 590 = 96 : 59

58. (a) !˜öì’Åëû %

 
 

178 90
100 %

178 300 415 318 127 90
          

268 100 %
1428
   
 

 = 18.7%  19%
59. (b) !˜öì’Åëû †vþü ¢‚…Äy

 405 318 250 200 305 220
6

    


1698 283
6

 

60. (c) T  (110 + 100 + 256 + 305 + 250 + 85) =
1106
R  (58 + 275 + 204 + 250 + 188 + 66) =
1041
U  (60 + 150 + 225 + 220 + 168 + 35) =
858
S  (102 + 190 + 198 + 200 + 190 + 75) =
955
ßþ™ÜT“þ£z U „þ›ÅöìÇþöìe ~£z ¢‚…Äy ¢îÅ!˜Á¬Ð

61. (a) öëöì£“%þ ABCD ~„þ!Ýþ î,_ßþi ‰þ“%þ¦Å%þ‹ ëyîû îyý AB ö„þ E
þ™ëÅhsþ î!•Å“þ „þîûy £œÐ
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

ADC = EBC = 110°
!„þlsþ ADC + CDF = 180°
 110° + CDF = 180°  CDF = 70°

62. (d) •!îû– AE = x ö¢!›
“þy£öìœ EC = (AC – AE) = (5.6 – x) ö¢!›

~…˜  AD AE 3 x 3 5.6 x 5x
DB EC 5 5.6 x

     


 16.8 – 3x = 5x  8x = 16.8  x = 2.1
 AE = 2.1 ö¢!›

63. (a) ²Ì”_ îûy!Ÿ ­

   
1 1sin A 4

1 cos A 1 cosA
 

     

   
 2

1 cos A 1 cosA
sin A 4

1 cos A

      
  

2

2sin A 4
sin A

 

 Sin A
1
2



 A = 30°

64. (a) tan(90 40 ) sec(90 40 ) cos40 cosec
cot 40 cosec 40

(90 40 )

      
 

  
  

cot 40 cosec40 cos40 sec40
cot 40 cosec40

  
   

  
= (1 + 1) = 2

65. (d) ö›yÝþ œyöì¦þ B ~îû ¦þy† 
15
31



~î‚ A ~îû ¦þy† 
15 161
31 31

    
 

ö›yÝþ œyöì¦þ A ~î‚ B ~îû ¦þyöì†îû x˜%þ™y“þ

16 15: 16 :15
31 31

 

•!îû– B ~îû ›)œ•˜ x Ýþy„þy 6 ›yöì¢îû ‹˜Ä !ŠéœÐ

“þy£öìœ A ~î‚ B ~îû ›)œ•öì̃ îû x˜%þ™y“þ

= (36000 × 8) : (6x) = 48000 : x
48000 16 16x 48000 15

x 15
    

48000 15x 45000
16


  

¢%“þîûy‚ B ~îû ›)œ•˜ = 45000 Ýþy„þy

66. (c) •!îû– !˜öì’Åëû ¢‚…Äy ”%!Ýþ £œ a ~î‚ b
a – b = k, a + b = 7k ~î‚ ab = 24k “þy£öìœ
(a + b)2 – (a – b)2 = 4ab
 (7k)2 – k2 = 4 × 24k
 49k2 – k2 = 96k
 48k2 = 96k
 k = 2
¢‚…Äy ”%!Ýþîû =’šþœ = 24k = (24 × 2) = 48

67. (b) •!îû 12, 14, 24 ~îû ‰þ“%þíÅ ¢›y˜%þ™y“þ = x
“þy£öìœ 12 : 14 :: 24 : x
 12 × x = 14 × 24

(14 24)x 28
12


  

!˜öì’Åëû ¢‚…Äy = 28
68. (b) •!îû– e«ëû›)œÄ = 100 Ýþy„þy ~î‚ •yëÅ›)œÄ = (100 + x)

Ýþy„þy– Šéyvþü = 15%

!îe«ëû›)œÄ    17 100 x85 100 x
100 20

     
 

 Ýþy„þy

17(100 x) 119
20


 

 17(100 + x) = 119 × 20
 (100 + x) = 7 × 20 = 140
 x = 40
 •yëÅ›)œÄ e«ëû›)œÄ öíöì„þ 40% öî!ŸÐ

69. (b) •!îû– £¤yÝþy þ™öìíîû ”)îûc = x !„þ!›
“þy£öìœ– ¢y£zöì„þœ myîûy ëyëû = (61 – x) !„þ!›

x 61 x 9
4 9


  

 9x + 4(61 – x) = 324
 5x = (324 – 244) = 80
 x = 16
¢%“þîûy‚ þ™yöìëû £¤yÝþy ”)îûc = 16 !„þ!›

70. (c) •!îû– !e¦%þöì‹îû îy£=!œ £œ 126 ö¢!›– x ö¢!› ~î‚
(x – 42) ö¢!›
 x2 = (126)2 + (x – 42)2

 x2 = (126)2 + x2 – 84x + (42)2

 84x = (126)2 + (42)2

84x = (42 × 3)2 + (42)2 = (42)2 × (32 + 12)
 84x = 42 × 42 × 10

42 42 10x 210
84

 
  

¢%“þîûy‚ „þöì’Åîû ÷”‡ÅÄ = 210 ö¢!›
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xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

71. (c) B M C X C N D Y

+1
+1

+1

+1
:

~„þ£z¦þyöìî–

E

D
–1

X F W

W E V
–1 –1 –1

72. (d) 33 : {(3 + 3)2 = 36} :: 21 : {(2 + 1)2 = 9}
73. (b) !m“þ#ëû ˜Áºîû!Ýþ ²Ìí› ˜Áºöìîûîû !vþ!‹Ýþ=!œîû öëy†šþœ xíÅyê

190 : (1 + 9 + 0) = 10 :: 102 : (1 + 0 + 2) = 3
74. (d) 

çþ™öìîûîû !‰þöìe !e¦%þ‹ xyöìŠé 8!ÝþÐ

çþ™öìîûîû !‰þöìe !e¦%þ‹ xyöìŠé 10!ÝþÐ
¢%“þîûy‚ ö›yÝþ !e¦%þ‹ xyöìŠé 10 + 8 = 18!ÝþÐ

(75-77) :

C A B

D E

F

75. (d) F, A ~îû ›y £ëûÐ
76. (c) E, C ~îû ö›öìëû £ëûÐ
77. (d) ö„þyöì̃ y!Ýþ£z ˜ëûÐ
78. (c) 253 ›yöì̃  ‘books are old’

546 ›yöì̃  ‘Man is old’ ~î‚
378 ›yöì̃  ‘buy good books’
¢%“þîûy‚ are ~îû ›yöì̃  2

79. (c) ¦þî˜– ˜„þŸy x˜%¢yöìîû ÷“þ!îû „þîûy £ëûÐ

80. (a) 
10 !›Ýþyîû

A
B

CD

E F

G 30 !›Ýþyîû

20 !›Ýþyîû

40 !›Ýþyîû

5 !›Ýþyîû

ßþ™ÜT“þ£z– xîöìŸöì¡ì ö†yþ™yœ FG öîû…y îîûyîîû £¤yÝþöìŠé– ëy
vþz_îû !”öì„þÐ

81. (a) ö›yÝþ !”˜ 2 + 2 + 2 = 6
î%•îyîû + 6 = ›Dœîyîû

82. (d) öëöì£“%þ þ™!îe ›•Äþ™”!Ýþ !îî,!“þ=öìœyöì“þ ~„þîyîûç î!^ùÝþ“þ
£ëû!˜– “þy£z ö„þyöì̃ y !˜’Åyëû„þ !¢kþyhsþ @ùÌ£’ „þîûy ëyöìî ˜yÐ

83. (a) Q

84. (c) (3 × 3) + (6 × 5) = 39   93

(4 × 4) + (5 × 7) = 51   15

~„þ£z¦þyöìî– (3 × 4) + (5 × 5) = 37   73
85. (a) L ~îû ßþiy˜#ëû ›y˜ 12 ~îû ¢öìD D ~îû ßþiy˜#ëû ›y˜ 4 ¦þy†

„þîûöìœ (12 ÷ 4) = 3 þ™y£zÐ

~„þ£z¦þyöìî– Z ~îû ßþiy˜#ëû ›y˜ 26 ~îû ¢öìD B ~îû ßþiy˜#ëû
›y˜ 2 ¦þy† „þîûöìœ xy›îûy þ™yî (26 ÷ 2) = 13

86. (c) A C E G B D F H

+1
+1

+1

+1

~„þ£z¦þyöìî– S U W Y T V X Z

+1
+1

+1

+1

87. (b) 1 × 10 – 1 = 9, 2 × 10 – 2 = 18, 3 × 10 –
3 = 27, 8 × 10 – 8 = 72

88. (a) 
ö„þŸî

¢%̃ #œ

öŠéöìœ

öîy˜

¢#“þy

ö›öìëû

!¢›îûy˜ ¦þy£z ö²Ì›

›y•î

›y›yöŠéöìœ

¢%̃ #œ £œ ›y•öìîîû …%vþü“%þöì“þy ¦þy£zÐ

89. (c) xy˜yîû¢ xy› !œ‰%þ

90. (d) ‡^ùÝþyîû „¤þyÝþy 12 ‡^ùÝþyëû 360° ö„þy’ x!“þe«› „þöìîû

‡^ùÝþyîû „¤þyÝþy 1 ‡^ùÝþyëû 
360
12


= 30° ö„þy’ x!“þe«› „þöìîû

 60 !›!˜öìÝþ 30° ö„þy’

1 !›!˜öìÝþ 
30 1
60 2

 

91. (a) CHANGED Ÿ·!Ýþîû xÇþîû=!œ ö”çëûy Ÿöì·îû xÇþîû=!œ
myîûy †!àþ“þÐ

92. (a) !„þŠ%é Indian £œ Scholars, xyîyîû !„þŠ%é Scholars £œ
Indian ~î‚ ¢›hßþ Indian ~î‚ Scholars £œ ›y˜%¡ìÐ
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

Scho
lar

s

India
ns

People

93. (b) H M+5

J

I

Z

T

O

N

E

Y

+5

+5

+5

+5

N S+5

O

V

G

Z

T

A

L

E

+5

+5

+5

+5

~„þ£z¦þyöìî–

94. (c) xöìBþîû öÇþöìe ¢!àþ„þ e«›!Ýþ £öìîéôôôé
Milimeter  Centimeter Meter  Decameter
 Kilometer

95. (b) î’Å›yœy!Ýþöì„þ !îþ™îû#“þe«öì› !œ…öìœ J ç T ~îû !àþ„þ ›yöìGþîû
xÇþîû!Ýþ £öìî O ~î‚ O ~îû îy›!”öì„þîû !m“þ#ëû xÇþîû!Ýþ £öìî
Q.

T S R Q  P  O  N M L K J
2nd

96. (d) 

öîy˜ öîy˜A

„þ˜Äy þ™%e

D

E

C

B

97. (b) 27 + 22 + 1 = 50
13 + 12 + 1 = 26
9 + 2 + 1 = 12

98. (a) 

15 !›Ýþyîû15 !›Ýþyîû

15 !›ÝþyîûöŸ¡ì
xîßþiy˜

²Ìí›
xîßþiy˜

15 !›Ýþyîû20 !›Ýþyîû

35 !›Ýþyîû

„þ›þ™öìÇþ x!“þe«› „þîûöì“þ £öìîéôôôé

   2 220 15 625 25    !›Ýþyîû

99. (b) 13 – 1 = 0, 23 – 3 = 5, 33 – 5 = 22, 43 – 7 =
57, 53 – 9 = 116, 63 – 11 = 205

100.(c) B

2nd

A D

1st 4th
2 + 1 + 4 = 7

L

12th

O W

15th 23rd
12 + 15 + 23 = 50
5 + 0 = 5

~„þ£z¦þyöìî–


